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Ex. (continued FRom Friony)

ON FRIDAY WE STARTED 1O FIND WCAL mAximA/mmmA oF 0= x (,7~x)
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Example  FivD LocAL mnmmn/ mwimp oF fex)= x°

[ster1]  Fln) = 3x*

[sreea]  or 30%50, SOWE POR X. WE JUST 6ET X=0 HERE 60 X0 16ONR DMLY LRITEAL PoINT
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P3
DEFEWITION. A PDINT X2p WHERE THE GRAPH OF A PUNLNON [(X) CHANGES CoMCAvITY
I CALLED AN INFLEGTON POINT  OF £(2).

wneave cocave 1
wp Aown AN INFLELTION POINT 15 ALLO WHERE f(x)
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(ofens down)
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concave uP 70 / INFLECTION
1"y s p
‘—l powT oF £"y0 I1DE A
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[$rze | Fno Fx)

P A0 =B Bx+Fh.. Ten £l = 3x*-19x 48 awo [(xX) = bx-/8

Gee2| Ser Fla)70 & Sowe poe x POSSIBLE
INFLEENDN
F'00= %18 =0 > Lx=18 ~ 123 POINT
@ DETEAMINE BEHAVOR OF £'[%) AROUND %73 Thus, SINCE %)
N\ P\t L) - Lo 18 =1 <o, CHAES St
i !
M%“:’f ! Wup o fl<0 =7 FLx) CoNcAVE DDWN [ KROUIND %73,
’ :' X©% 15 THE orwa
., L'l = bH)-I8 Yo INFLE ENON POIKT o7

8 :
;féﬁfr o so £'(%) 20 = frv) conwave wp 179}



